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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 40

Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
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Question Shuffling Allowed : Yes
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Question Number : 471 Question Id : 48558433786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What 15 the basis of creation of the new states of Chattisgarh, Uttarakhand and Jharkhand?

1. Ethnicity

[ ]

. Admustrative
3. Linguistic
4. Special Status

Options :

485584135141. 1
485584135142.2
485584135143.3
485584135144. 4

Question Number : 471 Question Id : 48558433786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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485584135141. 1
485584135142.2
485584135143. 3
485584135144. 4

Question Number : 472 Question Id : 48558433787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Policies which are aimed at persuading, encouraging or foreing all citizens to adopt a uniform set of eultural
values and norms is called

1. Pluralist
2. Nationalist
3. Assimilatiomist

4. Multiculturalist

Options :

485584135145 1
485584135146. 2
485584135147.3
485584135148. 4

Question Number : 472 Question Id : 48558433787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. dgarel
2. Y]
3. gorasfiarEl
4, fafgercmardt

Options :

485584135145. 1
485584135146. 2
485584135147.3
485584135148. 4
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Question Number : 473 Question Id : 48558433788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

According to western context, what does secularism actually denote?

1. Religious Chauvinism

[ ]

. Separation of religious and political authority
3. All religions are same and must

4. Keeping away the hostility between religions

Options :

485584135149. 1
485584135150. 2
485584135151. 3
485584135152. 4

Question Number : 473 Question Id : 48558433788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135149. 1
485584135150. 2
485584135151. 3
485584135152. 4

Question Number : 474 Question Id : 48558433789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Who argued that the nature of urban umpact varies according to the kind relation a village has with a city or

town?
1. M.S.A. Rao
2. Emile Durkheim
3. MLN. Srinivas

4, Louis Wirth

Options :

485584135153. 1
485584135154.2
485584135155.3
485584135156. 4

Question Number : 474 Question Id : 48558433789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584135153. 1
485584135154. 2
485584135155.3
485584135156. 4

Question Number : 475 Question Id : 48558433790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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The different ways i1 which British colonialism lives on in contemporary India:

A Learning Indian classical music and dance

B. Eating using fork and spoon
C. Wearing skirts and trousers
D. Online education

E. Driving on the left side of the road

Choose the correct answer from the options given below:

1.B.D. E only
2.B.C.E only
3.A.B.Donly

4. A, C.Donly

Options :

485584135157 1
485584135158.2
485584135159.3
485584135160. 4

Question Number : 475 Question Id : 48558433790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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1. $ad B, D. E
2. %dd B, C.E
3. POAA.B.D
4. HdAA.C.D

Options :

485584135157. 1
485584135158. 2
485584135159. 3
485584135160. 4
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Question Number : 476 Question Id : 48558433791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

High rates of infant mortality and maternal mortality are the result of which factors?
1. Poverty and development
2. Poverty and illiteracy
3. Life expectancy and poverty

4. Literacy and development

Options :

485584135161. 1
485584135162.2
485584135163. 3
485584135164. 4

Question Number : 476 Question Id : 48558433791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584135161. 1
485584135162.2
485584135163. 3
485584135164. 4

Question Number : 477 Question Id : 48558433792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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The NGO, Mahila Samalkhya. adopted an innovative method to communicate about the Panchayat Raj system

to the women in villages.
1. Documentary
2. Speech

3. Phad

4. Focus group discussion

Options :

485584135165. 1
485584135166. 2
485584135167.3
485584135168. 4

Question Number : 477 Question Id : 48558433792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584135165. 1
485584135166. 2
485584135167. 3
485584135168. 4

L]

Question Number : 478 Question Id : 48558433793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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India has which kind of democracy?
1. Direct democracy
2. Representative democracy
3. Indirect democracy
4. Non-representative democracy
Options :
485584135169. 1
485584135170. 2

485584135171. 3
485584135172. 4

Question Number : 478 Question Id : 48558433793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584135169. 1
485584135170. 2
485584135171. 3
485584135172. 4

Question Number : 479 Question Id : 48558433794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Opinions that are not fact based can be understood as

1. Prejudice

[ ]

. Untouchability
3. Inclusion

4. Execlusion

Options :

485584135173. 1
485584135174. 2
485584135175.3
485584135176. 4

Question Number : 479 Question Id : 48558433794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135173. 1
485584135174. 2
485584135175.3
485584135176. 4
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Question Number : 480 Question Id : 48558433795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Match the newspapers in List I with the language in List I

LISTI LISTII
Kesari I. | Malavali
Mathrubhumi II. | Hinds

Sambad-Kaumudi

IIT | Bengali

Oln|lw|»

Amar Ujala

IV, | Marathu

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

[ ]

[4F5)

ATV, B-IL C-I0, D-TI

CA-IV, B-ILL C-1L D-TII

4. A-IV, B-1I, C-III, D-I

Options :

485584135177. 1
485584135178.2
485584135179. 3
485584135180. 4

Question Number : 480 Question Id : 48558433795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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1. A-L B-IL C-IIL. D-IV

2, A-IV, B-1. C-III. D-II

Lad

LAV, BAIL C-IL, D-III

4. A-IV, B-1I, C-III, D-I

Options :
485584135177. 1
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485584135178.2
485584135179. 3
485584135180. 4

Question Number : 481 Question Id : 48558433796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Why 1z Demographic Dividend considered temporary?

1. Larger pool of working age people will gradually turn into non-working old age group

[ ]

. Larger pool of non-working people will eventually turn into working people
3. Eventually the number of non-working people will be equal to that of working people

4. Larger pool of non-working people will be employed dus to Government policies

Options :

485584135181. 1
485584135182.2
485584135183.3
485584135184. 4

Question Number : 481 Question Id : 48558433796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584135181. 1

485584135182.2

485584135183. 3
485584135184. 4
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Question Number : 482 Question Id : 48558433797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details : . COI Ie ged unila:
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Key

Value

Comprehension

MCQ

Identify the three villages that were mitially brought together to establish the trading post on river Hooghly by

the English in 17th century.

1. Kolikata, Maidan. Fort William

2. Sutanuti, Gobmndapur, Fort William

3. Sutanuti. Kolikata, Fort William

4. Kolikata, Sutanuti. Gobindapur

Options :

485584135185. 1
485584135186. 2
485584135187. 3
485584135188. 4

Question Number : 482 Question Id : 48558433797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584135185. 1
485584135186. 2
485584135187.3
485584135188. 4
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Question Number : 483 Question Id : 48558433798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Who believed that famines are the result of "failure of entitlements"?

1. Karl Marx

[ ]

- Amartya Sen
3. Malthus

4. Emile Durkheim

Options :

485584135189. 1
485584135190. 2
485584135191. 3
485584135192. 4

Question Number : 483 Question Id : 48558433798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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4. ZASA SWeH

Options :

485584135189. 1
485584135190. 2
485584135191. 3
485584135192. 4

[ S

Question Number : 484 Question Id : 48558433799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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When did Right to Information Act came into force?

1. October 13, 2005

[ ]

. October 13, 2006
3. June 15, 2005

4, June 15, 2006

Options :

485584135193. 1
485584135194. 2
485584135195. 3
485584135196. 4

Question Number : 484 Question Id : 48558433799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

I &1 SHUDPR e I YHIG g3 2

1. A 13, 2005
2. 3fdgar 13, 2006
3. 5[ 15, 2005
4.5 15. 2006

Options :

485584135193. 1

485584135194.2

485584135195. 3
485584135196. 4

Question Number : 485 Question Id : 48558433800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Identify the key characteristic of social stratification from the list given below:

A Tt 1s social and not individual in character
B. Social stratification persists through ideologies and practices

C. It persists over generations
D. It 18 natural
E. It 1s not natural

Choose the correct answer from the options given below:

1. A.B. Conly
2.B.C.E only
3.D.C.E only
4. A, D.E only
Options :
485584135197. 1
485584135198.2

485584135199. 3
485584135200. 4

Question Number : 485 Question Id : 48558433800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

FafeiRad § 9 gmarfee @R o= @ & [dgivdr &1 ug=ar &1

A. U5 9IS § Ud oufadid devr el &

B. ¥g Uifedl a& FRax gdr e

S
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1. Had A, B, C
2. %ad B, C.E
3.9ad D, C.E
4. 9dd A, D, E

Options :

485584135197. 1
485584135198. 2
485584135199. 3
485584135200. 4
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Question Number : 486 Question Id : 48558433801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What does population pyramid show?

1. Age. Birth rate, Growth

[ ]

. Age. Gender, Growth
3. Age. Birth rate, Life expectancy

4. Birth rate, Gender, Life expectancy

Options :

485584135201. 1
485584135202. 2
485584135203. 3
485584135204. 4

Question Number : 486 Question Id : 48558433801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e ORIfEs o ueidia $xar g2
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Options :

485584135201. 1
485584135202. 2
485584135203. 3
485584135204. 4

Question Number : 487 Question Id : 48558433802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Match the books 11 List I with the authors 1 List IT

LIST I

LISTII

Stree Purush Tulana

Daya Pawar

The city

Begum Rokeva

Analogv of Religion

IIL.

Taraba: Shinde

Oln|lw|»

Sultana's Dream

IV

Bishop Joseph Butler

Choose the correct answer from the options given below:

1

[ ]

4

AL B-1IIL C-TIIL D-IV

ATV, B-IL C-I0, D-TI

CACIL B-L C-IV, D-TI

CA-TV, B-IDL C-TTI, D-I

Options :

485584135205. 1
485584135206. 2
485584135207. 3
485584135208. 4

Question Number : 487 Question Id : 48558433802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Tl 1961 Il 11 9 f0e Bife
= | =
(TEF)
A | i g2y gon L |eaiuar
B. |1 IL | ST Al
C. | 3Frarel s frdiee | 1L | armErs fie
D. | gediiy g IV. | f4er0 SiE® geer

i faU U fomedl § T gl IR B 98- Hifulu :

1

Lad

4

AL BAIL C-TLL D-IV

CA-IV, B-1L CHIIIL DT

LACIL B-1L C-IV, D-II

CA-TV, B-I1L C-IT1, D-1

Options :
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485584135205. 1
485584135206. 2
485584135207. 3
485584135208. 4

Question Number : 488 Question Id : 48558433803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The working age group considered for measuring dependency ratio 1s:

1. 15-64 years

[ o]

. 16-64 years
3. 18-70 vears
4. 20-50 years

Options :

485584135209. 1
485584135210.2
485584135211.3
485584135212. 4

Question Number : 488 Question Id : 48558433803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

R SUTd & A9 g PO 1Y §HE & faar:
1.15-64 a4

. 16-64 Y

.18-70TY

4.20-50 a9

Options :

485584135209. 1
485584135210. 2
485584135211.3
485584135212. 4
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Question Number : 489 Question Id : 48558433804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 !

Correct Marks : 5 Wrong Marks : 1 col IegEd unias
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Question Key Details :

Key

Value

Comprehension

MCQ

In Madhopur village. 77 out of 298 households work and live in the cities of Bombay and Calcutta. What does

the example reflect?
1. Industrialisation
2. Urbanisation
3. Migration

4, Ghettoization

Options :

485584135213. 1
485584135214. 2
485584135215. 3
485584135216. 4

Question Number : 489 Question Id : 48558433804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

HIHGR 7Tid & 208 H ¥ 77 GRAR SIS Ud paddl § &1 $3d & AR I8d ¢ 178 IEeRUl 70l YHRl STad]

8

1. AT
. RIEHR
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| )
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Options :

485584135213. 1
485584135214.2
485584135215.3
485584135216. 4

Question Number : 490 Question Id : 48558433805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias

India’s largest Student Review Platform



Common features of caste system include

. equalities within the same caste members
. social mobility

. occupational link

. subdivisions

. hierarchical arrangements

s o B M ws B4 =3

Choose the correct answer from the options given below:
1. A B.C.D only
2.A.B.D.E only
3.B.C.D.E only

4. A, C,D.E only

Options :

485584135217. 1
485584135218.2
485584135219.3
485584135220. 4

Question Number : 490 Question Id : 48558433805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Sifa vyt § g Suvaradt § 2 §

A. I9H Sid Sedl & 99 IHEAI
B. IS a=iiedr

C. SIS daHa

D. WIaHTsH

E. 4Uilgg cgaeiu

e fau U fasedi § U el IR &1 98- SIfu:
1.Had A, B, C.D
2. $dd A.B.D.E
3.9adB.C,D.E
4. $ddA.C.D.E

Options :

485584135217, 1

485584135218 2

485584135219, 3

485584135220, 4 Qcollegedunias
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Question Number : 491 Question Id : 48558433806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Match the concept in List I with the example in List IT

Globalisation IV

LISTI LISTII
Concept Example
A | Weekly market I. | Use of branded cars
B. | Status symbol II. | BPO
C. | Commodification | II1. | Dhorai
D.

Sale of kidney to rich patients

Choose the correct answer from the options given below:

1. A-IIL. B-IL. C-I. D-IV

2. AL B-IV, C-11, D-I
3. AL B-L C-IV. D-I1

4. A-IL B-L. C-1II, D-IV

Options :

485584135221. 1
4855841352222
485584135223.3
485584135224. 4

Question Number : 491 Question Id : 48558433806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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T 1 H fGU T SraeRonai o1 =t 1 § foU 7T Iereun I e i

T 1 e I
SHTUO Jaeul
A |uafes a9r| L Fes oR o 3ud
B [iagiucie | I [Eidied
C. fpaitecd IIL [URTg
D. [agimu IV. [eATEd Al &l el agHr

=i f&u T famedt & 3 Hel SR 31 994 BT

1. A-IIL B-IL. C-I. D-IV

| B

CA-ITL B-TV, C-IT, D-1

3. A-IIL B-1, C-1V, D-II

4. A-IL B-I, C-IIL. D-IV

Options :

485584135221. 1
485584135222.2
485584135223.3
485584135224. 4

Question Number : 492 Question Id : 48558433807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the states having lowest to highest child sex-ratio as per 2011 Census:

A Himachal Pradesh

B. Kerala

C. Bihar

D. Haryana
E. Rajasthan

Choose the correct answer from the options given below:

1.D,E.A.C.B
2.C; B A By
3 B.ADEC

4. C.A.D.E.B

Options :

485584135225. 1
485584135226. 2
485584135227.3

.
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485584135228. 4

Question Number : 492 Question Id : 48558433807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

2011 1 SHIUET & SR YAdH U 3= &1 & S[urd a1l o0 &1 saieyd &1

A TeHEa Uew
B. Bd

c. foer

D. gfamom

E. 1ol

e [GU U [doedil | 3 9l 3R &1 944 BI9I0;

1.D.E.A.C.B
2.C.D.A.B.E
3. BLAD.E.C

4. C.AD.EB

Options :

485584135225 1
485584135226. 2
4855841352273
485584135228. 4

Question Number : 493 Question Id : 48558433808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Arrange the following groups in an ascending order in terms of thewr percentage share in the Bidi industry:

A, Manufacturer
B. Worker

. Contractor
D. Distributor

Choose the correct answer from the options given below:

1.A,C.B.D
2.B.C.D.A
3. ABCD

4B.D.C.A

Options :

485584135229. 1
485584135230. 2
485584135231. 3
485584135232. 4

Question Number : 493 Question Id : 48558433808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

frafeiRad sl &1 31 1St 3 # Ui & F<H H 3RS H H oudiyd &3

A fafafar
B. 4i0%
C. dhaR
D. [ddx®

=i T3y 7 fawredl H ¥ Wel SR &1 98- BT

1.LA.C.B.D

| B

By Gy DA
JJAB.C.D

4B.D.C.A

Options :

485584135229. 1
485584135230. 2
485584135231. 3
485584135232. 4

-
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Question Number : 494 Question Id : 48558433809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

For migrant workers Jan Breman has used the term:

1. Footloose labour

[ ]

. Loose labour
3. Mobile labour
4. Migratory labour

Options :

485584135233. 1
485584135234.2
485584135235.3
485584135236. 4

Question Number : 494 Question Id : 48558433809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

2R el & o o 389 1 51 Yeal ST uanT fear g

=t

P H®
iy yfte

R EGE R
4. Yl yfae®

Options :

485584135233. 1
485584135234.2
485584135235.3
485584135236. 4

| )

L]

Question Number : 495 Question Id : 48558433810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-

collegedunias
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Identify the permanent traits of tribes from the list provided below:

A Language

B. Maode of livelihood

C. Region

D. Extent of mecorporation into Hmdu society
E. Physical characteristics

Choose the correct answer from the options given below:
1. A. C.E. only
2.B.D.E. enly
3.A.B.C. only

4. B.C.E. only

Options :

485584135237. 1
485584135238. 2
485584135239. 3
485584135240. 4

Question Number : 495 Question Id : 48558433810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
= <1778 gl § 9 o il 3w faearst &1 ugar &
AL HH[
B. HToilfdsT o5 HIUTH
C. &4

D. fw ot & Wiy o s
E. AIRIRS fagiean
i feu U fasedi § 9 Tel 3R &1 944 Hifely
1.HAdA, C.E
2.%duB. D,E
3. PAdA B, C

4. ®gAB.C.E

Options :

485584135237. 1

485584135238, 2

485584135239. 3

485584135240, 4 Qcollegedunias

India’s largest Student Review Platform




Question Number : 496 Question Id : 48558433811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange the four-fold division of society into the varna system:

A. Vaisya
B. Brahmin
C. Sudra

D. Kshatriya

Choose the correct answer from the options given below:

1.B,D,A,C
2.B.A.C.D
3.A.B.C.D

4. C.B.D.A

Options :

485584135241. 1
485584135242.2
485584135243.3
485584135244. 4

Question Number : 496 Question Id : 48558433811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Ul YUTTGH H THTS & IR 971 &l oxaiedd Hi.

A.T9g
B. 9lgIT
C. %
D. &g

Choose the correct answer from the options given below:

1.B.D.A.C

| B

B, A C.D

AB.C,D

fad

4.C.B.D.A

-

collegedunias
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Options :

485584135241. 1
485584135242. 2
485584135243.3
485584135244. 4

Question Number : 497 Question Id : 48558433812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Impact of urbanization on peripheral villages:

A People build fashionable houses

B. Pressure on resources

C. Conflicts between migrants and villagers
D. Qut migration

E. Uprooting villagers from their land

Choose the correct answer from the options given below:
1. A, C.D.E. only
2.A.B.C.Donly
3.A.B.C.E only

4.B.C,D.E only

Options :

485584135245. 1
485584135246. 2
485584135247.3
485584135248. 4

Question Number : 497 Question Id : 48558433812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Qcollegedunias
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Tral @t uifY o 2rediexu H1 Uy
A, @1 HEEDT g BT i e §
B. 9141 U gard
C. AuaIfEdT ud mat aral & T Iue
D. &T8l Uged
E. U0 & 31 YT J SEre
i feu e faeredl 8 9 981 ST &1 984 i
1.A. C.D. E.dad
2.A.B.C.D®dd
3,A B.C.E®dd

4.B.C.D.E&ad

Options :

485584135245. 1
485584135246. 2
485584135247.3
485584135248. 4

Question Number : 498 Question Id : 48558433813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The situation where people do not enjoy work and see it as something they have to do only for livelihood is
degeribed as:

1. Exploitation
2. Alienation
3. Marginalization

4, Discrimination

Options :

485584135249. 1
485584135250. 2
485584135251. 3
485584135252. 4

Question Number : 498 Question Id : 48558433813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value nia:

C India’s largest Student Review Platform




|C0mprehension |MCQ

asi@éﬁraﬁwﬁmmﬁmw 31T 121 & Udl & o6 378 91 TSNPl 8 $© ol S 5l 6, 59 T8
PEd Bl
1. QIS0
. 3= G
3. T
4. faerEteo

Options :

485584135249. 1
485584135250. 2
485584135251. 3
485584135252. 4

| S

Question Number : 499 Question Id : 48558433814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From the choices given below choose the scheme associated with providing help to the farmers.

1. Beti bachao, Beti padhao

[ o]

. Green revolution
3. Pradhan Mantri Fasal Bima Yojana

4. Land Ceiling Act

Options :

485584135253. 1
485584135254.2
485584135255.3
485584135256. 4

Question Number : 499 Question Id : 48558433814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

.
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= feu U fasedl & U S| D Tgrdl UaH &R dell A1 &1 98- B
1. §C1 S, 9T gaTed

 BRa wifd

3. FYTTHE S famr gie

4, YiF gaddl sfufoe

Options :

485584135253. 1
485584135254.2
485584135255.3
485584135256. 4

[

Question Number : 500 Question Id : 48558433815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Match the concept in List I with the explanation in List IT

LISTI LISTII
Concept Explanation
Dreventive - | Number of females per 1000 males ina
A L. ; : : :
checks given area at a specified time period
5 DPositive I Estimated number of vears that an average
" | checks " | person is expected to survive
c Life I Voluntary action to reduce population (liks
" | expectancy " | postponing marriage)
D | sex-ratio ats an‘ol?nrgi}‘ \erents to reduce population
(like famine)

Choose the correct answer from the options given below:

1. A-IV. B-IIIL. C-II, D-I
2. AL B-IV, C-11, D-I
3. A-IV. B-IL, C-III, D-1
4. A-I B-II. C-III. D-IV

Options :

485584135257. 1

485584135258.2

485584135259. 3
485584135260. 4

.
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Question Number : 500 Question Id : 48558433815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

It 1 ¥ AU g sraeRuns &1 gt 1§ 4 T saren 9 fieH sifon

T I g1
UV ST
e [l [afary xaEle o} Us FYiRd
& ks Sareh I 1000 THH! H Tfgars & I
o [[PRE®S | (39 F1 AT 98 SEl O U S
Nl " [eafd B Siiidd 36 ®1 UGN Bl &
[ ] &l BH D g Hdlg (A4
€ [ " \are! @t feifad e
: . [FEE & B B g JRafEsd
D. [lefT ofger | IV eI (ST TP )
e [5U U [docdl | ¥ 91 IR &1 944 HI9I0:

1. A-IV. B-III, C-II, D-1

b

AL B-IV, C-ILL D-I

3. A-IV. B-I1. C-III. D-I

4. A-1. B-11. C-IIL. D-IV

Options :

485584135257. 1
485584135258. 2
485584135259. 3
485584135260. 4

Question Number : 501 Question Id : 48558433816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

The work culture where workers work for extended hours beyond the regular time esther to complete the
project or please the boss 15 called:

1. Flexi-time

2. Night out

LS ]

. Time slavery

4. Work pressure

Options :

.
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485584135261. 1
485584135262. 2
485584135263. 3
485584135264. 4

Question Number : 501 Question Id : 48558433816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

a5 P Td wo ! YS! Bl A1 Al 3 Woide Bl O3] S 3Ual §iF &1 TR = og 9 Fafha a0g
T P THY TP P P IS5l o

Uil ersH
S 3T

3 HHT aXdl

fray

| S

4. P8 BT edld

Options :

485584135261. 1
485584135262. 2
485584135263. 3
485584135264. 4

Question Number : 502 Question Id : 48558433817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Recent developments in Varanasi and its promotion in media made the city an attractive tourist spot. With
which theory can this example be associated with?

1. Corporate culture
2. Culture of consumption
3. Globalization of culture

4. Conscious consumption

Options :

485584135265. 1
485584135266. 2
485584135267. 3
485584135268. 4

.
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Question Number : 502 Question Id : 48558433817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

R H g 1 gU e SR TifET U 9o TR A 59 e B HNS Yo wd a1 [ g

1. PIURe TPl

. U BT WP
fa &1 adier
4. T GUUFT

Options :

485584135265. 1
485584135266. 2
485584135267. 3
485584135268. 4

| B

fad

Question Number : 503 Question Id : 48558433818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Arrange 1n a chronological manner from earliest to latest developments:

A. SRC mandated redrawing of the map of India on linguistic lines

B. Many feared that states based on language will hasten further division of India
C. Indian National Congress was constituted on linguistic lines

D. India became independent but was partitioned along religious lines

E. Creation of Andhra Pradesh after the death of Potti Sriramulu

Choose the correct answer from the options given below:

1.C.D.B.E.A
2088 D EG B
JAB.D.CE

4D.C.B.A.E

Options :

485584135269. 1
485584135270. 2
485584135271. 3
485584135272. 4

-
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Question Number : 503 Question Id : 48558433818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

FafdaRad ©f UR™ 9 sierd 9ol & DAHHTIR 98 J O

A, T 3R 91 SR YRT & AHEE S UINTg Sl 8§ g5: sifq el s
B. §5d I MT=iferd & 3T U 3enid It & HRA YR B H: [auH 8§ goar g
C. YRK IPY DI BT UINT 9@ H Y716 fopar mar o1

D. YR Wdd 8l T b gu] elfHe SR IR [GUTe gai

E. OIET SR 1 gq & Udrd S Ua=l I &4

=i 73U 7T f9epedi § § HEl 3TR &1 904 HIT:
1.C.D.B.E.A
2.A.B.D.C.B
3AB.D.C.E
4.D,C.B.A,E

Options :

485584135269. 1
485584135270. 2
485584135271.3
485584135272. 4

Question Number : 504 Question Id : 48558433819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A movement that 13 aimed in bringing change in the personal consciousness and actions of individual members
is called:

1. Reformist social movement
2. Revolutionary social movement
3. Historical social movement
4. Redemptive social movement
Options :
485584135273. 1

485584135274.2
485584135275.3

485584135276. 4 .
% collegedunias
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Question Number : 504 Question Id : 48558433819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

U A< Ia o gHT sIfgdiTd Yoo+ Ud dufdde Iedi & H1af & gRadd d- &1 a&g of

fray

S U IRCICRS |l B E A IEA NG

id®R gHEHI® TG

Ufaefas amifoie sr<ieH
4. [qa=® OIS A<

Options :

485584135273. 1
485584135274.2
485584135275.3
485584135276. 4

| S

fad

Question Number : 505 Question Id : 48558433820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Match the laws in List I with the year adopted mn List I

LISTI LISL
Laws/Acts Tear ot
N Adoption/Passing
Caste Disabilities Removal Act [. | 1989
B. | Constitution Amendment (95rd) Act I 1930
(Article 17) Abolishing of .

€ Untouchability 13| tha0
D. | Prevention of Atrocities Act IV | 2006

Choose the correct answer from the options given below:

1. A-I, B-II. C-III, D-IV
2. A-IV, B-III, C-II, D-I
3. A-IL, B-IV, C-1II, D-1

4. A-IV, B-II, C-1, D-III

Options :
485584135277. 1

-
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485584135278. 2
485584135279. 3
485584135280. 4

Question Number : 505 Question Id : 48558433820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

et 13 U T S s o1 g n H U T uika g9 ard g 9 faE S|

LISTI LIST 11
A | S g HaR sy I |1989
B. | dfgem dareH (o3ah sfafmy 1. | 1950
C. | 3rEg=TdT IHEH (3G 17) 1. | 1850
D. | AR &I s U HfafHge IV. | 2006

i< fau U fasedl 3 T 98! 3Tk &1 98- ST

1. A-L, B-II, C-III. D-IV
2. A-IV, B-11I, C-11, D-I
3. AL B-IV, C-I1, D-I

4. A-IV, B-II, C-1. D-III

Options :

485584135277. 1
485584135278.2
485584135279. 3
485584135280. 4

Question Number : 506 Question Id : 48558433821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The floods caused by the unusually heavy monsoon in the Alaknanda valley marked a turning point in the

ecological history of the region. What is being referred to here?

1. Budhan movement
2. Chipko movement
3. Swacch Bharat Mission

4, Namami Gange Project

Options :

485584135281. 1
485584135282.2
485584135283. 3
485584135284. 4

Question Number : 506 Question Id : 48558433821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584135281. 1
485584135282. 2
485584135283. 3
485584135284. 4
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Question Number : 507 Question Id : 48558433822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Who 1s associated with the anti-caste movement in 19th century?

1. Mahatma Gandhi

[ ]

. Jyotiba Phule
3. Raja Rammohan Roy

4. Birsa Munda

Options :

485584135285. 1
485584135286. 2
485584135287. 3
485584135288. 4

Question Number : 507 Question Id : 48558433822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584135285. 1
485584135286. 2
485584135287. 3
485584135288. 4
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Question Number : 508 Question Id : 48558433823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Arrange the following newspapers in order of their year of publication from the earliest to the latest.

A The Madras Mail

B. The Statesman

C. The Times of India

D. The Pioneer

E. The Civil and Military Gazettee

Choose the correct answer from the options given below:
1.C.D.A.B.E
2.B;D.CAE
JABED.C

4 A C.B.E.D

Options :

485584135289. 1
485584135290. 2
485584135291. 3
485584135292. 4

Question Number : 508 Question Id : 48558433823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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A femgrada
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Choose the correct answer from the options given below:
1.C.D.A.B.E
2. B.D,C.AE

JACB.E.D.C

&S]

4 A C.B.E.D

Options :

485584135289. 1
485584135290. 2
485584135291.3
485584135292. 4

-

collegedunias

India’s largest Student Review Platform



Question Number : 509 Question Id : 48558433824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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One of the key 1ssues that bind the tribal movement across India.

1. Over exploitation

[ ]

. Language
3. Alienation from forest lands
4. Ethnicity

Options :

485584135293. 1
485584135294. 2
485584135295. 3
485584135296. 4

Question Number : 509 Question Id : 48558433824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value
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MCQ
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Options :

485584135293. 1
485584135294.2
485584135295.3
485584135296. 4
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Question Number : 510 Question Id : 48558433825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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What was the common demand among the jute workers of Kolkata, cotton mill workers of Buckingham and

Ahmedabad?
1. Better working conditions
2. 25% increase of wages
3. 50% increase of wages
4, Less working hours

Options :

485584135297. 1
485584135298. 2
485584135299. 3
485584135300. 4

Question Number : 510 Question Id : 48558433825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584135297. 1
485584135298. 2
485584135299. 3
485584135300. 4

Sub-Section Number : 2
Sub-Section Id : 4855842446
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 511 Question Id : 48558433826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Read the passage and answer the questions:

Regionalism in India 15 rooted in India's diversity of languages, cultures, tribes and religions. It 15 also
encouraged by the geographical concentration of these identity workers in particular regions and fuelled by a
sense of regional deprivation. Indian federalism has been a means of accommodating these regional
sentiments.

After independence, initially the Indian state continued with the British-Indian arrangement, dividing India
into large provinces. also called Presidencies’. These were large multi-ethnic and multilingual provincial states
constituting the major political-administrative units of a semui-federal state called the Union of India.
Languages coupled with regional and tribal identity and not religion has therefore provided the most powertul
mstrument for the formation of ethno-rational 1dentity in India.

The three major factors for the formation of ethno-rational identity in India are:
1. Linguistic, tribal and religious identity
2. Linguistic. caste and tribal identity
3. Regional. linguistic and tribal identity

4. Religious. linguistic and caste identity

Options :

485584135301. 1
485584135302. 2
485584135303. 3
485584135304. 4

Question Number : 511 Question Id : 48558433826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :
485584135301. 1
485584135302. 2

485584135303. 3
485584135304. 4
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Question Number : 512 Question Id : 48558433827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the questions:

Regionalism in India 15 rooted in India's diversity of languages, cultures. tribes and religions. It is also
encouraged by the geographical concentration of these identity workers i particular regions and fuelled by a
sense of regional deprivation. Indian federalism has been a means of accommodating these regional
sentiments.

After independence, initially the Indian state continued with the British-Indian arrangement, dividing India
into large provinces. also called Presidencies’. These were large multi-ethnic and multilingual provincial states
constituting the major political-administrative units of a semi-federal state called the Union of India.
Languages coupled with regional and tribal identity and not religion has therefore provided the most powertul
mstrument for the formation of ethno-rational 1dentity 1n India.

Which of the following cultural markers 1s not responsible for regionalism in India?
1. Tribe
2. Caste
3. Religion
4. Language

Options :

485584135305. 1
485584135306. 2
485584135307. 3
485584135308. 4
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Question Number : 512 Question Id : 48558433827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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1. Siefd
2. wIfd
3. 48

4. HMI

Options :

485584135305. 1
485584135306. 2
485584135307. 3
485584135308. 4

Question Number : 513 Question Id : 48558433828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the passage and answer the questions:

Regionalism in India 1s rooted in India's diversity of languages, cultures, tribes and religions. It 15 also
encouraged by the geographical concentration of these identity workers in particular regions and fuelled by a
sense of regional deprivation. Indian federalism has been a means of accommodating these regional
sentiments,

After independence, nitially the Indian state continued with the British-Indian arrangement, dividing India
mto large provinees, also called Presidencies'. These were large multi-ethnic and multilingual provincial states
constituting the major political-administrative units of a semu-federal state called the Union of India.
Languages coupled with regional and tribal identity and not religion has therefore provided the most powertul
mstrument for the formation of ethno-rational identity in India.
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During British period. India was divided into large provinces called
1. Principalities
2. State
3. Princely states

4. Presidencies

Options :

485584135309. 1
485584135310. 2
485584135311. 3
485584135312. 4

Question Number : 513 Question Id : 48558433828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584135309. 1
485584135310. 2
485584135311. 3
485584135312. 4

Question Number : 514 Question Id : 48558433829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension Compl

Read the passage and answer the questions:

Regionalism in India 15 rooted in India's diversity of languages. cultures. tribes and religions. It 1s also
encouraged by the geographical concentration of these identity workers in particular regions and fuelled by a
sense of regional deprivation. Indian federalism has been a means of accommodating these regional
sentiments,

After independence, iitially the Indian state continued with the British-Indian arrangement. dividing India
into large provinees, also called 'Presidencies'. These were large multi-ethnic and multilingual provincial states
constituting the major political-administrative units of a semi-federal state called the Union of India.
Languages coupled with regional and tribal identity and not religion has therefore provided the most powertul
mnstrument for the formation of ethno-rational identity in India.

The term used for addressing the existence of diversity of languages 18
1. Multi-lingual
2. Multicultural
3. Multi-ethnie

4, Mono-lingual

Options :

485584135313. 1
485584135314. 2
485584135315. 3
485584135316. 4

Question Number : 514 Question Id : 48558433829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Options :

485584135313. 1
485584135314. 2
485584135315. 3
485584135316. 4

Question Number : 515 Question Id : 48558433830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Read the passage and answer the questions:

Regionalism in India 13 rooted in India's diversity of languages, cultures, tribes and religions. It 15 also
encouraged by the geographical concentration of these identity workers in particular regions and fuelled by a
sense of regional deprivation. Indian federalism has been a means of accommodating these regional
sentiments,

After independence, mitially the Indian state continued with the British-Indian arrangement. dividing India
mto large provinees, also called 'Presidencies'. These were large multi-ethnic and multilingual provincial states
constituting the major political-administrative units of a semi-federal state called the Union of India.
Languages coupled with regional and tribal identity and not religion has therefore provided the most powertul
mstrument for the formation of ethno-rational identity in India.

For the growth of regionalism. the prerequisite 15

1. Sense of being dominant

[ ]

. Sense of deprivation
3. Sense of empowerment

4, Sense of advancement

Options :

485584135317. 1
485584135318. 2
485584135319. 3
485584135320. 4
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Question Number : 515 Question Id : 48558433830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension Compl
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Options :

485584135317. 1
485584135318.2
485584135319.3
485584135320. 4
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Read the passage and answer the following questions:

These are indicators of the process of globalisation of agriculture, or the mcorporation of agriculture into the
larger global market - a process that has had direct effects on farmers and rural society. For mnstance. i some
regions such as Punjab and Karnataka, farmers enter mto contracts with multimational companies (such as
PepsiCo) to grow certain crops (such as tomatoes and potatoes), which the companies then buy from them for
processing or export. In such 'contract farming' systems. the company identifies the crops to be grown.
provides the seeds and other inputs, as well as the knowhow and often also the working capital. In return, the
farmer is assured of a market because the company guarantees that it will purchase the produce at a
predetermined fixed price. Contract farming is very common now in the production of specialised ttems such
as cut flowers, fruits such as grapes, figs and pomegranates, cotton and oil seeds. While contract farming
appears to provide financial security to farmers. it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products such as
flowers and gherking also means that agricultural land 1s diverted from food grain production. Contract
tarming has sociological significance in that it disengages many people from the production process and
makes their own indigenous knowledge of agriculture irrelevant. In addition, confract farming caters primarily
to the production of elite items, and because it usually requires high doses of fertilisers and pesticides, it is

often not ecologically sustainable.

Contract farming happens for:
1. Cash crops only
2. Food crops only
3. Ol seeds and cotton
4. Food processing industry
Options :
485584135321. 1
485584135322.2

485584135323.3
485584135324. 4

Question Number : 516 Question Id : 48558433831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Options :

485584135321. 1
485584135322.2
485584135323.3
485584135324. 4

Question Number : 517 Question Id : 48558433832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Read the passage and answer the following questions:

These are indicators of the process of globalisation of agriculture, or the mcorporation of agriculture into the
larger global market - a process that has had direct effects on farmers and rural society. For mnstance. i some
regions such as Punjab and Karnataka, farmers enter mto contracts with multimational companies (such as
PepsiCo) to grow certain crops (such as tomatoes and potatoes), which the companies then buy from them for
processing or export. In such 'contract farming' systems. the company identifies the crops to be grown.
provides the seeds and other inputs, as well as the knowhow and often also the working capital. In return, the
farmer is assured of a market because the company guarantees that it will purchase the produce at a
predetermined fixed price. Contract farming is very common now in the production of specialised ttems such
as cut flowers, fruits such as grapes, figs and pomegranates, cotton and oil seeds. While contract farming
appears to provide financial security to farmers. it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products such as
flowers and gherking also means that agricultural land 1s diverted from food grain production. Contract
tarming has sociological significance in that it disengages many people from the production process and
makes their own indigenous knowledge of agriculture irrelevant. In addition, confract farming caters primarily
to the production of elite items, and because it usually requires high doses of fertilisers and pesticides, it is
often not ecologically sustainable.

The change 1n the nature of relationship between landlords and agricultural workers has been described by the
sociologist Jan Brewman as:

L. shift from patronage to exploitation
2. shift from ownership to tenancy

3. withdrawal from subsistence farming
4. withdrawal from agriculture

Options :

485584135325. 1
485584135326. 2
485584135327. 3
485584135328. 4

Question Number : 517 Question Id : 48558433832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Read the passage and answer the following questions:

These are indicators of the process of globalisation of agriculture, or the mcorporation of agriculture into the
larger global market - a process that has had direct effects on farmers and rural society. For mnstance. i some
regions such as Punjab and Karnataka, farmers enter mto contracts with multimational companies (such as
PepsiCo) to grow certain crops (such as tomatoes and potatoes), which the companies then buy from them for
processing or export. In such 'contract farming' systems. the company identifies the crops to be grown.
provides the seeds and other inputs, as well as the knowhow and often also the working capital. In return, the
farmer is assured of a market because the company guarantees that it will purchase the produce at a
predetermined fixed price. Contract farming is very common now in the production of specialised ttems such
as cut flowers, fruits such as grapes, figs and pomegranates, cotton and oil seeds. While contract farming
appears to provide financial security to farmers. it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products such as
flowers and gherking also means that agricultural land 1s diverted from food grain production. Contract
tarming has sociological significance in that it disengages many people from the production process and
makes their own indigenous knowledge of agriculture irrelevant. In addition, confract farming caters primarily
to the production of elite items, and because it usually requires high doses of fertilisers and pesticides, it is

often not ecologically sustainable.

Who decides the crop to be grown under contract farming?

1. Farmer
2. Tenants
3. Labourer

4. Company

Options :
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Read the passage and answer the following questions:

These are indicators of the process of globalisation of agriculture, or the mcorporation of agriculture into the
larger global market - a process that has had direct effects on farmers and rural society. For mnstance. i some
regions such as Punjab and Karnataka, farmers enter mto contracts with multimational companies (such as
PepsiCo) to grow certain crops (such as tomatoes and potatoes), which the companies then buy from them for
processing or export. In such 'contract farming' systems. the company identifies the crops to be grown.
provides the seeds and other inputs, as well as the knowhow and often also the working capital. In return, the
farmer is assured of a market because the company guarantees that it will purchase the produce at a
predetermined fixed price. Contract farming is very common now in the production of specialised ttems such
as cut flowers, fruits such as grapes, figs and pomegranates, cotton and oil seeds. While contract farming
appears to provide financial security to farmers. it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products such as
flowers and gherking also means that agricultural land 1s diverted from food grain production. Contract
tarming has sociological significance in that it disengages many people from the production process and
makes their own indigenous knowledge of agriculture irrelevant. In addition, confract farming caters primarily
to the production of elite items, and because it usually requires high doses of fertilisers and pesticides, it is
often not ecologically sustainable.

Out of the following, which 1s not a demenit of contract farming?
1. Provides financial security to the farmer
2. Indigenous knowledge becomes irrelevant regarding agriculture
3. Ecologically not sustamable

4. Does not produce for the masses

Options :
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Read the passage and answer the following questions:

These are indicators of the process of globalisation of agriculture, or the mcorporation of agriculture into the
larger global market - a process that has had direct effects on farmers and rural society. For mnstance. i some
regions such as Punjab and Karnataka, farmers enter mto contracts with multimational companies (such as
PepsiCo) to grow certain crops (such as tomatoes and potatoes), which the companies then buy from them for
processing or export. In such 'contract farming' systems. the company identifies the crops to be grown.
provides the seeds and other inputs, as well as the knowhow and often also the working capital. In return, the
farmer is assured of a market because the company guarantees that it will purchase the produce at a
predetermined fixed price. Contract farming is very common now in the production of specialised ttems such
as cut flowers, fruits such as grapes, figs and pomegranates, cotton and oil seeds. While contract farming
appears to provide financial security to farmers. it can also lead to greater insecurity as farmers become
dependent on these companies for their livelihoods. Contract farming of export-oriented products such as
flowers and gherking also means that agricultural land 1s diverted from food grain production. Contract
tarming has sociological significance in that it disengages many people from the production process and
makes their own indigenous knowledge of agriculture irrelevant. In addition, confract farming caters primarily
to the production of elite items, and because it usually requires high doses of fertilisers and pesticides, it is

often not ecologically sustainable.

The system described in the passage 15 possible due to which process?

1. Globalisation

[ ]

. Contract farming
3. Trans National Corporation

4. Gloealisation
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